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(Honours)

Paper : COM-HC-60[16
(Auditing and Corporate Governance)
Full Marks : 80
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

Answer Group-A and Group-B
in Separate Answer books.

Group-A
(Auditing )

1. Answer as directed : (any four) 1x4=4
foriel SRR Tea i ¢ (Rizetar 5ie0Y)

() Final audit starts after the end of

financial year.
(State whether the statement
is True or False)

Contd.



R & w® ZRE fige purs ol T
TS R (EfED ey 7 WPy i)

(ti) audit is done by the staff of
the employer. (Fill in the blank)

08 391 7| (937 32 92 3)

(i) Write the meaning of fraud.

SR T2l famy |

(iv) The auditor’s reéport is addressed to the

members of the company,
(State whether the statement

is True or False)

&wwﬁﬁwﬁﬁmm@mﬁﬁaww
R ] frar 27

(@@memwﬁw

4 (Sem-6/CBCS) He | (ACG/c 2




(v) Write two types of negative audit report.

YIS 2519 oI St 757 99 for |

(vi) What is management audit ?

IRFIPNRE 251 o[ S e

(vii) One of the object of cost audit is to

reconcile cost accounts and

accounts. (Fill in the blank)
Tesii T 2pio Wi f2ptoRs frerasael
(AR T Zoiol 2 PHR B Sy |

(3T 912 27 F91)

(viii) Write the meaning of internal audit.

wremRl f2piel ARrER Wy faa |
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2. Answer the following : (any three)
2x3=6

were fraiaRe ©es &l o (Freran fofnn)

(i) What is meant by vouching?

SO o W 0

(i) Write the meaning of Audit Notebook.

f2oiol 2w (et 78 e e |

@) Who is a company auditor ?

@A fepiot 1w @ 210

(itv) Write two points of distinction between
frauds and errors,

a@ﬁmmaﬁamw@ Nl Byl |
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3. ‘Answer the following questions : (any two)
5x2=10

T fral eI e i < (R g5)

() Removal of a company’s auditor

(PR f2pIvl ASTrea Sopiael

(ii) Features of a good internal check

system

Saw SroER Aferiy AEe [RBPTRR

(iii) Advantages of an audit programme

fptel oiFrm IR FRUOTR

(iv) Objectives of cost audit

277 Zpiet SIrER STRPTR
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4. <Answer the following questions : (any two)
10x2=20

WWWWWS(MW)

(a) Discuss the auditor’s duty regarding
detection and prevention of errors and

frauds. 10
@ﬁwmmwcmwmwﬁm
CRIS {21 vy ke SICAG 347 |

(b) Discuss the contents of an audit report,
10

&mﬂﬁ%ﬁwmwﬁﬂquw:

(c) What is the meaning of vouching of
Cash Book ? Write the procedure of
vouching of cash sales. 2+8=10

Wﬁ?ﬂﬁaﬁmﬁﬁwwﬁﬁwaﬂwﬁﬁa
SRR AT 2 vy
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(d) Describe the important advantages of
cost audit. 10

T Roisf AR wIPIE FRUPZ 36 =140

(e) What is meant by ‘continuous audit’?
State the merits and demerits of such
audit. 2+8=10

‘HiaITEs fZpist AR W 52 G Zpist #9wia
@ HiF (FIEERR 0 390

Group-B
( Corporate Governance)

1. Answer the following questions as directed :
(any six) 1x6=6
waTe fra e Mot SR Ses fwal ¢ (R
L))

(a) A company cannof issue redeemable
preference share for a period exceeding

Bl @A ARty SeifdeR Sieg
Hifgs Fm Trte [F e @RiEe

i) S years
¢ 99
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(ii) 10 years
S0 I

(i) 1S years
3¢ I

(iv) 20 years

R0 IF ‘
(Choose the correct answer)!u

G+ Sewir 1% )

(b) The concept of corporate social

Te€sponsibility originated in which
period ?

ﬁmwmmmmm@mw
R A8 03w o

() 1920’ and 1930’s

830 ] Sywo

(i) 19th century
So% =ifemy
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(i) 1980’s and 1990’s

Sobo 7Sl Yado

(iv) 1960’s and 1970’s

Yovo 79l Yhao

(Choose the correct answer)

(i Gech AR Tferedr)

(¢) In which year Maxwell Communication

Corporate was established ?

(I 57O * (AR SIS I (T ZIoe

Czfoe e

() 1974
v548

(i) 1982
Yot
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(i) 1964
22v8
(iv) 1994

2908
(Choose the correct answer)

(3% Seasr AR Shvaqy

(d) . Pillar of corporate Sustainability i
Fora srfimer @y TH

(i)  the environmen;a] pillar

MR ws
(i)  the social pillar

e vy

(iii) the €conomic pjjjay
T Ty

(tv) All of the above

SR ii3eeny
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(e) As per the Companies Act, 2013, the
maximum strength of directors on the
Board is 15. (True/ False)

IR 3w, 205 B SR #AfIGEwI Neetre
AepIeE A AU (R S¢ T |
(%% 93%)

() Every Director can have only one DIN

(Director Identification Number)
(True/ False)

Ao FPEFT GBIz WE DIN AT |
(5% 95%)
(g9 Write the full form of UNDO.
UNDO-3 F~9f Foitht feein|

(h) German model of corporate governance
is two-tier board model.

(Indicate whether True or False)

st SRR i SIEE! 12 SRl AN
sfe | (®% (@ 8% F30)
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2. Answer very briefly of the following :

(any two) 2x2=4

weTe WAPRRS ©fS 5t $ea ol 3 (Rt gy

(@ What is meant by corporate
philanthropy ?

fsrm srefRTeRel W f6 e

(b) What is greer. governance ?

OIS S W7 fos o

(c) Write two features of corporate
governance,

R swpime 7 cafis o

(d) What is meant by business ethics ?

JNE IS T Fp
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3.

Write short an
SWeEr of -
{any two) the follo:mg :
x2=10

| e

e benefits of ¢
! 0
sustainability. rporate

o TR ARUPTE S 41|

hich affect

) gxplal®
pbusiness ethics
LR A @S HOR (AR FRETR
g T
i ate
(c) Explain the prmcxp\e { corpof
governance.
o TP T ikl
(d) Discuss the differences petween ethics
and morality
2 T THPOR T sijefay SEap T
" Contd.
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Write long answers of the following :
(any two) 10x2=20

O TR TR I ¢ (R ghy)

(a)

(b)

(c)

(@)

Write the meaning of good corporate
governance. Discuss any two theories
of corporate governance. 2+(4x2)=10

CeY 51 S Wi By 5 Sepettsir
PR R 75 st 20 | |

Describe about the major corporate .
scandals in India.

i
ORO® HIMS @RI T Fow @rEmitiEme
R 3 1 |

Discuss the essential requisites for good
ethics programme.

@WMWW|

Explain different provisions of the|
Companies Act, 2013 relating to
corporate social responsibility.

s A arrEeR e Tl ol
=iz 039-3 77w At FRPTE i 4 |
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(e) Explain the arguments in favour
of and against corporate social
responsibility.

ﬁWWWWWWﬁWW
e I 4
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